
For example, 
the terms of this 

sequence start at 50 
and count by 7’s.

How could 
you find the 
100th term of 

this arithmetic 
sequence?

Later on, you 
learned how to 

skip-count.

Starting 
at a number, 

we always add 
the same amount 
to get the next 

term.

One of the first 
things you ever 

learned in math was 
a sequence...

...when you 
learned to recite 

the positive 
integers.

A sequence 
where we always 

add the same amount 
to get from one term 
to the next is called 

an arithmetic 
sequence.

Unn too

fee... ...foe
fye...

...sick
sebbin

ate...

...ellem menno P!

What is 
the 100th 
term?
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+7 +7 +7 +7

Term: 1st 2nd 3rd 4th 5th

Term:

50
+(
1･7

)=
50
+(
2･
7)
=

50
+(
3･
7)
=

50
+(
4･
7)
=

50
+(
99
･7
)=

743

th1st 2nd 3rd 4th 5th 100

50
+(
1･7

)=
50
+(
2･
7)
=

50
+(
3･
7)
=

50
+(
4･
7)
=

We add 7 to 
get from each 

term to the 
next.

To get the 
second 

term, we only 
add one 7.

| don’t 
think that’s 

right.

To get the 
100th term, can 

we just add one 
hundred 7’s?

To get the 
third term, 
we add two 

7’s.

To get the 
fourth term, 
we add three 

7’s.

We just need 
to know how many 
7’s we add to get 

the 100th term.

To get the 
100 th term, we 
have to add 99 

7’s. 50+(99•7)
=50+693

=743.

Good. 
What is the 

nth term of this 
sequence?

Try it.
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50+7(n-1)
Term:

50
+(
1･7

)=
50
+(
2･
7)
=

50
+(
3･
7)
=

50
+(
4･
7)
=

50
+(
99
･7
)=

743

th1st 2nd 3rd 4th 5th 100

*To simplify 50+7(n-1), distribute the 7 to get 50+7n-7, then combine like terms to get 7n+43.

To get the nth 
term, we have to 

add (n–1) 
7’s.

So, the nth 
term is 50+7(n–1), 

which simplifies 
to 7n+43.*

Well 
done.

The amount you 
add is called the 

common difference 
of the sequence.

This sequence 
has a common 
difference of 7.

Find the common 
difference for each 
of these arithmetic 

sequences.

Try it.
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-8 -8 -8 -8

+99+99+99

2
12

3
12

4
12

5
12

6
12

...

1
12

1
12

1
12

1
12

+ + ++

+99+99+99

-8 -8 -8 -8

1
12

1
12

1
12

1
12

+ + ++

We can find the 
common difference in 

an arithmetic sequence 
by subtracting any term 

from the next term.

The 
common 
difference 

is 99.

|n this 
sequence, the 
numbers are 
decreasing!

Each number 
is 8 less than the 

one before it.

We can add 
-8 to get the next 

term, so the common 
difference is -8.

This one 
looked hard 

at first...
...until | 

changed all of 
the fractions 
into twelfths.

The common 
difference is 1

12 . 

Perfect. 
Use these 
common 

differences 
to compute 
the 21st term 

of each 
sequence. 

Try it.
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